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1) Round 25.341517502 to the nearest
whole number.

2)  Convert the following mixed number
114, 5 into an improper fraction.

3) 75.8 + 49.6

Answer: Answer: Answer:
4) (324 5)  Convert the following fraction into a 6) $186.00 earning 4% compound
mixed number: 33/, interest for 8 years.
Answer: Answer: Answer:
7) (-851) = 37 8) 1102 + 29 9) 1102 + 29
Answer: Answer: Answer:
10) (-10) = 10 11) Find the median of the following set of datx 12) Share 31 intheratio 19:12
36, 39, 25, 19, 6, 33, 38, 25, 6, 40,
39,21
Answer: Answer: Answer:
13) Round 17.7420327 to 2 decimal 14) Round 17.7420327 to 2 decimal 15)
places. places. 29 i \ Find VVolume of Cone
—p—
26
Answer: Answer: Answer:
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16)  (-238)+

14

Answer:

17)  (-238)+ 14

Answer:

18)  Increase 183 by %/,

Answer:

19) Increase 183 by 2/g,

Answer:

20) Increase 183 by %/g;

Answer:

21) $115.00 earning 10% compound
interest for 4 years.

Answer:

22) Find perimeter of 23) (7x 1Y+ (10x 18) 24)  Convert the following mixed number
triangle 23 4 into an improper fraction.
b a=792in,b=811
in
a
Answer: Answer: Answer:
25) 202 +12-13 26) / 27) 7
169 25 4
Answer: Answer: Answer:
28) 604 x 229 29) Find perimeter of 30) 12x 19.9
b rectangle having
sidesa=2887in
a andb=516in
Answer: Answer: Answer:
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31) A number was shared in theratio 32) 23 x (-6) 33) 112 + (-766)
4:14. The larger share was 42. What
was the smaller amount?
Answer: Answer: Answer:
34) 35) Find perimeter of 36) 741 + (-19)
Find Volume of square having each
Pentagonal Pyramid s side (s) equals 382 m
23
s
Answer: Answer: Answer:

37) 741+ (-19)

38) 684.4+ 23.6

39) Simplify 27:5

Answer: Answer: Answer:
40) 'What isthe probability of rolling a 41) Find the percentage change from 4 to 42)
number less than 1.when rolling a 88 26J Find Volume of Cone
dice GD
22
Answer: Answer: Answer:
43)  Findthe median of the following set of data 44) Find areaof triangle || 45) What would you multiply by to
40, 21, 37, 15, 3, 36, 34, 23, 28, 14, a=729in,b=770 increase an amount by 98%?
30, 37, 30, 10, 8, 28, 36, 18, 15 b ¢ in
a
Answer: Answer: Answer:
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46) Find the value of 's' by completing
the square of the following equation:
2+10s+16

Answer:

47)  Convert the following improper
fraction 129/, + 129, into amixed
number

Answer:

Answer:

49) 1 Wy -11 18,

50) $265.81 earning 10.6% compound
interest for 7 years.

51)  68%of 64

4,32, 18, 28, 23, 19, 21, 24, 37, 29,
11,5, 31, 19, 31, 37, 28, 27

Answer: Answer: Answer:
52) 68% of 64 53) Round 9.030326 to 4 decimal places. 54) 8 I1>
27
Answer: Answer: Answer:
55) 880 - 411 56) Find the median of the following set of data: 57) 39.3+ 393

Measure angle boc

Answer:

Answer:

Answer: Answer: Answer:
58) b 59) (13x12+4)-5 60) What would you multiply by to
decrease an amount by 32%?
a o} c

Answer:
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61) Round 26.6311 to the nearest 10 62) Share 18 intheratio 4:5 63) Share 18 intheratio 4.5
Answer: Answer: Answer:
64) Anamount was decreased by 1% to 65) A number was shared in theratio 66) 25 x 1000
$307.00. Find the original amount. 5:27. The smaller share was 45.
What was the total amount shared?
Answer: Answer: Answer:
67) (-860) - 718 68)  395.3-490.6 69) Round 11.07257 to the nearest whole
number.
Answer: Answer: Answer:
70) Convert the following mixed number 71) Convert the following fraction into a 72)  Increase 153 by 1/51
9%, into an improper fraction. mixed number: 10/,
Answer: Answer: Answer:
73) 10 ls 74) Find perimeter of 75) 816 +24
64 b rectangle having
sidesa=975m
a andb=734m
Answer: Answer: Answer:
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76)  What would you multiply by to 77) 285+ 15 78) 285+ 15
increase an amount by 23%?
Answer: Answer: Answer:
79) Find perimeter of 80) 6.5x 36.4 81) Increase 40 by 1/10
. triangles=723m
s
Answer: Answer: Answer:
82) 05:21 am To 10:55 am 83) 522 + 29 84) 522 +29
Answer: Answer: Answer:

85) Round 6.84337151t0 4 decimal places. || 86) Round 9.249 to 1 significant figures. 87) Plg+ 167

Answer: Answer: Answer:
88) Find the percentage change from 26 89) 140+ 10 90) 140+ 10
to 52
Answer: Answer: Answer:
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91) 92) Share60intheratio 1.5 93) Simplify 16:7
Find Volume of
Cylinder
Answer: Answer: Answer:
94) 580 + 20 95) Find perimeter of 96)
square having each Find Volume of
s side (s) equals 230 cm Cylinder
s
Answer: Answer: Answer:
97) Round 9.030215 to 3 decimal places. 98) Find area of square 99) 03:21am To 11:32 am
having each side (s)
s equals 178 m
s
Answer: Answer: Answer:
100) 512.12+23.6
Answer:
Total: /100
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1) 25

8) 38

15) 5132.3151984145
22) 2414in

29) 2806in

36) -39

43) 14

50) $538.09

57)1

64) $303.93

71) 2

78) 19

85) 6.8434

92) 10: 50

99) 08 Hours 11 Mins
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W,
9) 38

16) -17

23) 17

30) 238.8
37)-39

44) 280665in
51) 43.52
58) 61

65) 288

72) 156

79) 2169m
86) 9
93)16: 7
100) 21.7

3) 125.4
10) -1

17) -17

24) 1Y,
31) 12

38) 29

45) 1.98
52) 4352
59)

66) 25000
73) 16

80) 236.6
87) 111/196
94) 29

MATHS WORKSHEET

4) 38

11) 355
18) 189
25) 399
32)
39)27:5
46) (s+5)2-9
53) 9.0303
60) 0.68
67) -1578
74) 3418m
81) 44

88) 100%
95) 920cm

Answers:

5) 16Y,

12)1:30

19) 189

26) 13

33) -654

40) 91,

47) 2514

54) 9

61) 26.6

68) -95.3

75) 34

82) 05 Hours 34 Mins
89) 14

96) 9883.4504881935

GEMERA i

6) $254.55
13) 17.74
20) 189
27)5

34) 8191.1929042041
41) 120%
48) 9

55) 469
62)2:16
69) 11

76) 1.23
83) 18

90) 14

97) 9.03

: 02122019-1177
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7)-23
14)17.74

21) $168.37

28) 138316

35) 1528m

42) 3294.4834960645
49) 208750

56) 33

63)2:16

70) 61

7719

84) 18

91) 21912.608758789
98) 31684m
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